21137 TN EE RGN EE+TZFA

7= miiEA

ME

HESHMARINBIE , KARELE,
TEMESEE , KITELE,

TN L4T | SRELIBLY

HASIT , REFS

BRI B IS RER.

f M

SHNEEERNT 0.02mm, B#MBLIT , AIFMARE,

BR:

BELFEEBASTNELT TR BRLAT , TENTF R E LTI A
TR,

B UBERESE , E5001mmNERBEMAE LCD ERR. B
BERETHITEN, BERTRFEBRE.

ZHEMERAEDN 2 F, BHFERRESE,
IEBETENZRNEEBIRREERE 4 MLE.
TFEUTEEREITRETUARESZENEHRIEENAE. ARARH
R RAS.

ELRET
UEETENTE:
a) L& (HHE)
b) &

c) FE

d) &

for electrics

© norelem www.norelem.com



21137 FHRFUEE RHENKE+FA

H4 H5 L L1 L2 L4L5 L7 L8 1T
21137-108 | A 4 6 2 200 200 200
21137-112 | A |75/60|38 26|23 | M6x1 12|M6| 6 |23,5|20(29|27|15,5| 7 [239|180|75|120|15| 2 |7,5|165| 73 300 300 300 18 18 18
21137-208 | B |46/36|21 26|23 | M6x1 8 |[M4| 4 | 18 (14|27|23| 14 | 6 |[179(120/46| 75 |12/ 2| 6 |108| 48 200 200 200 3,6 3,6 3,6
21137-212 | B |75/60|38 26|23 | M6x1 12|M6| 6 |23,5|20(29|27|15,5| 7 [239|180|75|120|15| 2 |7,5|165| 73 300 300 300 18 18 18
21137-308 | C |46/36|21 26|23 | M6x1 8 |[M4| 4 | 18 (14|27|23| 14 | 6 |[179|120]46|120|12| 2| 6 |108| 48 200 200 200 3,6 3,6 3,6
21137-312 | C |75/60|38 26|23| M6x1 12|M6| 6 |23,5(20|29|27|15,5| 7 |239/180|75/180(15| 2 |7,5/165| 73 300 300 300 18 18 18

© norelem www.norelem.com



21137 TN EE RGN EE+TZFA

© norelem www.norelem.com



